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= 2,060,740 * 3% * 8IHE 49,458
-ABIEE JI2RYES
49,457,760 * 126 5,935
201 er23| 216,803 221,897 A5,004
01 AtR2t2|HI 21,803 26,003 A4,200
OSEIIHSUHAIE S22 M=
6,000& = 1,000 6,000
OAMRES 7Y 500,000 = 5J4 2 2,500
OZH0IXl, 2el=z2 8 KXl2el
279,580 * 1200 3,355
O2g&dl 2& M 14,0002 = 100K 1,400
OUEItE Jattl =2
600,000 * 5J4 2 3,000
Odztx 2=xelAld 22l
150,000& = 12913 1,800
OgliMg=g #EdtI=
300,000& = 10H 3,000
OAIE/EHl EI188 BA=Z
57,5002 = 13CH 748
2 S5=2g4l 195,000 195,894 A8HA
O2g&dl 282 60,000,000 60,000
O2g&dl A=l 3,000,000& * 504 15,000
O=gdtl &gx 1,000,000 * 544 5,000
OAIE/EHl ||
3,000,000& * 504 15,000
O2E &l |AHI(WSEHIZE)
100,000,000 100,000
202 04l 22,464 21,120 1,344
01 =LHOHI 22,464 21,120 1,344
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2A: sHIIsUEH
B sxol2isd U so|z 23
=es Je SsXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsIIH SBR=N 0] 22,464,000 22,464
206 M=l 7,500 7,500
01 M=4l 7,500 7,500
SSIIH UMY W= 7,500
“SUAE 3+ 2,500,000& » 3% 7,500
301 2= 300,000 300,000
14 JIEt2d = 300,000 300,000
OLlgdNs s&Y HdHE N
300,000,000 300,000
401 Al HIZL 2018 22,000 22,000
01 Al&H| 22,000 22,000
OUA&STIA HIOME &Hot &X|
22,000,000& * 1IHA 22,000
405 AtatE = 101,500 260,800 159,300
01 TR =S FSHI 101,500 260,800 A159,300
SIIHEE & 22 &Hl 7Y 101,500
-CA3220 17,000,000& * 1CH 17,000
—=Fgxd)] 7,000,0008 * 2CH 14,000
-SE012D| 23,500,000& * 3CH 70,500
SIH =3l=el W= 113,175 113,227 AB2
101 ©1AH| 36,929 26,981 9,948
04 JIZtN2Z2 XS E+ 36,929 26,981 9,948
OsJIH =3l=2| UFY 36,929
=0 2,060,740 * 2% « 8HE 32,972
ABI2E J|22E S
32,971,8403 * 12% 3,957
201 fet= 3| 4,746 4,746
01 AtR2t2lHl 4,350 4,350
O3 us| 1S HMAID ol 2/E3 Y =
At 6,0008 » 3005 1,800
OAt=2ie| E28Hl N2AHE HAIS =2
= 70,0002 * 3074 2,100
O8FIl=zls 2SS
150,000& * 32| 450
02 S3=gHl 3% 3% 0
O3EstR= 33,0008 * 12042 3%
206 M=Hl 61,500 61,500
01 MHZH| 61,500 61,500
OsIIH =3 us 61,500
-=3lus RE(S832I| 2 95)
40,000,000& 40,000
“NEE BER(AUIY 2| 4F)
8,000,000& 8,000
—=2uF 37 1,500,000 * 3% 4,500




2A: sHIIsUEH
B sxol2isd U so|z 23
s JIAE SsAA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
283 2 FES(JUAE ZE)
300,000& * 105 * 33 9,000
301 EtE2 NS 10,000 20,000 10,000
14 0Bt 2a=S 10,000 20,000 10,000
OsIIH AsRel BHE| X
10,000,000& 10,000
wWEE sEIIAXE 40,000 50,000 10,000
= 20,000
= 10,000
o 10,000
405 AtatE = 40,000 50,000 10,000
= 20,000
= 10,000
Ea 10,000
01 ML ESFSHI 40,000 50,000 10,000
OsY82H(2IIE2H)
40,000,000 40,000
= 20,000
= 10,000
[Ea 10,000
FAX 221 H 9 X 200,000 200,000 0
= 100,000
= 50,000
o 50,000
405 KHoHF S| 200,000 200,000 0
= 100,000
& 50,000
= 50,000
01 It =S F = 200,000 200,000 0
O==&HA 22D A=t &1+
200,000,000 200,000
= 100,000
< 50,000
s 50,000
CELN & ESBJI=sEs 75,065 58,152 16,913
101 @124H| 18,465 13,392 5,073
MU IIRINZZE2NSES 18,465 13,392 5,073
ORQI|(EE) ZREX UFY 18,465
-=20 2,060,740 * 1H = 8HE 16,486
ABlEE JlBRe2
16,485,920& * 12% 1,979
201 er23| 17,600 14,760 2,840
01 At2teltl 9,000 4,600 4,400
Osdls 28z 7Y 6,000,000& 6,000
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2A: sHIIsUEH
B sxol2isd U so|z 23
s JIAE SsAA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEEXS NEA H&EHS 1=
3,000,000& * 1& 3,000
02 S3=gHl 8,600 10,160 A1,560
OEEZH 28a 500,000 = 6CH 3,000
OLEE 2g3Hl =AY 3,000,000& 3,000
(@=F1= 30,0002 = 5CH * 120HE 1,800
Ootdyd oISt 800,000& = 1CH 800
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
OEE 2873 7l 2,000,000 2,000
301 EetE2 NS 30,000 30,000
4Bt 2as 30,000 30,000
ORQdI|(EE) 2825 w=H|
1,000,000& * 30 30,000
405 AHaHE = 7,000 7,000
01 AL =S F=HI 7,000 7,000
OZgE & 7,000,000 * 1CH 7,000
SEXNCAY 383 X (sI1) 15,000 15,000 0
= 4,500
o 10,500
206 M=l 15,000 15,000 0
== 4,500
o 10,500
01 M= HI 15,000 15,000 0
OsIlH=2l=c| WsXH
15,000,000 15,000
S 4,500
= 10,500
ADIE ES A (sI1H) 25,000 0 25,000
= 12,500
o 12,500
402 2I2FX=01 & 25,000 0 25,000
= 12,500
s 12,500
02 RIENEASEZ(0IETHR) 25,000 0 25,000
OEEE HIMNZ AlcE & 22EX A
= ANd 25,000,000 25,000
= 12,500
s 12,500
S8 =S 1,134,825 906,105 228,720
= 367,140
Jl 6,400
=S 25,350




2A: sHIIsUEH
B sxoleigsd o so|z 23
telr =g JlslEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 735,935
ADlE B (RE) 350,000 210,000 140,000
= 175,000
s 175,000
402 2I2F X201 & 350,000 210,000 140,000
= 175,000
[Ea 175,000
02 QI TH2AILEE (01X THE) 350,000 210,000 140,000
OBIME IEM NBE MM U P2 A
HIEX) 200,000,000 200,000
= 100,000
= 100,000
Ol R0 Usst SHAxd
150,000,000& 150,000
= 75,000
o 75,000
sHEgols ey 29 N 18,000 18,000 0
= 5,400
= 12,600
101 @124H| 9,600 13,500 23,900
= 2,880
[Ea 6,720
MU IIRINZZENSES 9,600 13,500 A3,900
OYlSHERZLX A 2HUUEE ®
g) 9,600,000 9,600
= 2,880
s 6,720
201 2= 2,900 2,000 900
= 870
= 2,030
01 At2tltl 1,900 0 1,900
Ogalis HZLE X s A 2E 85
e 1,900,000 1,900
= 570
Ea 1,330
02 S3=gHl 1,000 2,000 21,000
Ogai=s t&EE & AHY 2S
1,000,000 1,000
= 300
= 700
206 M=l 1,500 1,900 2400
= 450
Ea 1,050
01 M=4l 1,500 1,900 2400




2A: sHIIsUEH
B sxoleigsd o so|z 23
telr =g JlslEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHlz HZE ¥ Aua 2o
1,500,000 1,500
= 450
Ea 1,050
405 AtaHE = 4,000 600 3,400
= 1,200
o 2,800
01 Tt =S F=H 4,000 600 3,400
OHHE NEE FD(AH0ILIGIRA) 72
4,000,000 4,000
= 1,200
= 2,800
sHESEHE AL =29 NE 4,800 4,800 0
= 1,440
o 3,360
301 EtE NS 4,800 4,800 0
= 1,440
s 3,360
14 J|Et2a s 4,800 4,800 0
Ogdis2EE 2g sIt24
4,800,000 4,800
= 1,440
= 3,360
sHSEHE LMLl XA 122,400 120,200 2,200
= 61,200
[Ea 61,200
206 MH=H| 122,400 120,200 2,200
= 61,200
s 61,200
01 M= Hl 122,400 120,200 2,200
s&E Holls YHbl 122,400,000 122,400
= 61,200
Ea 61,200
sRLE X el K& 105,000 0 105,000
= 42,000
o 63,000
201 er23| 5,000 0 5,000
= 2,000
o 3,000
01 AtR2t2lHl 5,000 0 5,000
Ogs*it= etdxel Xd
5,000,000& 5,000
= 2,000
[Ea 3,000
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M sgII=4dH
B sxoleigsd o so|z 23
& HEEE J=Es (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 100,000 0 100,000
= 40,000
= 60,000
02 QIZHBAAIE E X 100,000 0 100,000
Og=sR4at= ot X el K&
100,000,000& 100,000
= 40,000
= 60,000
SeEds 2gXA 22,400 27,200 A4,800
= 5,600
= 16,800
201 L2 AH| 10,000 11,300 21,300
= 2,500
= 7,500
01 Al2 2218 5,000 5,000 0
OEYAR WS HUBE U ARBE 7
2 5,000,000& 5,000
= 1,250
[ 3,750
02 32| 5,000 6,300 21,300
OZTEEAA AE/EH| ||
5,000,000& 5,000
= 1,250
= 3,750
202 0idl 3,400 5,900 A2,500
= 850
o 2,550
01 =LHOdHI 3,400 5,900 A2,500
OZg2HA 2% ol
3,400,000& 3,400
= 850
= 2,550
206 =8| 9,000 10,000 21,000
= 2,250
= 6,750
01 THZ=HI 9,000 10,000 A1,000
O&g=z4a 2EM= 9,000,000& 9,000
= 2,250
o 6,750
EEL 2558 53 12,000 27,500 15,500
= 6,000
= 6,000
101 214 d| 10,000 17,500 AT7,500
= 5,000
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2A: sHIIsUEH
B sxoleigsd o so|z 23
telr =g JlslEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 5,000
04 JIZtNZ22 XS 2+ 10,000 17,500 AT7,500
OIsEh Bk =3 10,000,000 10,000
= 5,000
s 5,000
206 MH=HI 2,000 10,000 28,000
= 1,000
= 1,000
01 MHZH| 2,000 10,000 28,000
OE2hR 24 M= 2,000,000& 2,000
= 1,000
[Ea 1,000
NOIEESAY 2HHEE) 84,500 121,000 A36,500
s 25,350
s 59,150
206 M=l 84,500 93,000 /8,500
[ 25,350
Ea 59,150
01 M=4l 84,500 93,000 /8,500
Os&= dolls =Xl
84,500,000 84,500
= 25,350
o 59,150
ASEF Jl==2=2 170,598 135,280 35,318
101 212A4H| 840 0 840
04 JIZtN2 2N S 2+ 840 0 840
OQAHEE A (II2HAI) 840
-NSHI(AAIHS)
20,000 » 208 » 13 400
-SJlus 5,500% * 20 = 43 440
201 fer23y| 3,836 2,180 1,656
01 Al 22IH| 3,3% 1,700 1,65
OSEXTAY SEEIIE MY
440,000 = 2CH 880
ODNEBR & , EXE2 B2 AFE
50,000& » 20 1,000
OMYOIFEH DR (ZDH)
5,500% * 8% = 43 176
Os&= dolils oz - 2He 28 =Sl
1,300,000& 1,300
2 S22l 480 480 0
Olt=3tad OISAAE FXI2c
48,000& » 10CH 480
202 04l 6,912 7,680 AT768
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2A: sHIIsUEH
B sxoleigsd o so|z 23
ol HEed JlslEas (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OELSEE2AA AILZ/EHIKAIY
5,000,008 * 25 10,000
206 M=l 2,000 2,000
01 b 2,000 2,000
OEYZSHA IR 72
2,000,000& 2,000
207 AR 8,000 8,000
R EEET 8,000 8,000
OEYZELHA BT W2 7Y
8,000,000& 8,000
URSAE2HY 28 51,150 51,100 50
101 @12A4H| 150 100 50
03 BRA(RIH )22 U2+ 150 100 50
OS+AddHN HIE 150,000& » 1& 150
201 fer= 3| 31,000 31,000
01 At 2|l 1,000 1,000
OHEHARE % MEES
200,000& » 55 1,000
2 222 30,000 30,000 0
ORFSASHA FHISA
6,000,000& * 55 30,000
207 ARl 20,000 20,000
R ERET 20,000 20,000
OTBEASA AT W 7Y
100,0002 * 2005 20,000
o FaAcY 2E 17,277 14,325 2,952
101 e124d| 4,617 4,465 152
M ORINZZ2NSE S 4,617 4,465 152
O ZZacld 2g AR 4,617
= 2,060,740 * 1H * 2HE 4,122
-AEIEE JI2HRYES
4,121,480 * 12% 495
201 et 3| 3,000 3,000
02 s3=ghl 3,000 3,000
OnZH2AL|A AE/EHIS I
300,000 = 105 3,000
207 ARl 9,660 6.860 2,800
03 Alg 32t 9,660 6,860 2,800
O Sdacldd & 55 Z28JI1E 28
1,200,000% * 6% 7,200
O SZacle NS & 224 I 8
410,000¢ * 6Z 2,460
SASE ASAMY ELZA MSHI 6,400 6,500 A100
Jl 6,400
206 MH=H| 6,400 6,500 A100
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M sgII=4dH
B sxoleigsd o so|z 23
& HEEE J=Es (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 6,400
01 =8l 6,400 6,500 2100
O3YAEM At 22|l 6,400,000 6,400
| 6,400
gols GEFYM 2 141,000 141,000 0
= 70,500
o 70,500
101 @124t 77,000 76,800 200
= 38,500
= 38,500
M IIRNZ2EXsEs 77,000 76,800 200
OIS HTYHS =
77,000,000 77,000
= 38,500
= 38,500
201 B2 AY| 52,250 44,400 7,850
= 26,125
= 26,125
01 Al222lH| 47,850 38,400 9,450
OHSHE HEYUHE X2 L AR AR
42,850,000& 42,850
= 21,425
= 21,425
OYoiS0E HHc 29 =20
5,000,000& 5,000
= 2,500
= 2,500
2 SE=29| 4,400 6,000 A1,600
Ogdlls LN I R|H L AIEH
Hl =Xl 4,400,000& 4,400
= 2,200
= 2,200
206 =8| 11,750 19,800 A8,050
= 5,875
= 5,875
01 THZ=HI 11,750 19,800 8,050
OdollE WL 28 L DX M=
11,750,000& 11,750
= 5,875
= 5,875
ASHRIF) =23 2,035,491 1,638,430 397,061
= 15,000
J| 800,000
& 251,100
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2A: sHIIsUEH
B sxoleigsd U so|z 23
H?el ASHASI|eEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 969,391
s EEM(aS) 30,000 570,000 /540,000
= 15,000
s 15,000
402 2I2F X201 & 30,000 570,000 540,000
= 15,000
[Ea 15,000
02 QI TH2AILEE (01X THE) 30,000 570,000 A540,000
OMHE 28 =23t LN Ml Ji= Al
30,000,000& 30,000
= 15,000
= 15,000
NIIESESAY EHHAS) 37,000 214,000 A177,000
=S 11,100
s 25,900
201 fer=3| 2,000 3,400 1,400
== 600
[Ea 1,400
01 At22t2lH] 1,000 1,000 0
Ost=lttH 22 1,000,000 1,000
S 300
= 700
03 A= SHI 1,000 2,400 1,400
Ost=IttH 23 1,000,000& 1,000
= 300
o 700
206 M=l 6,000 4,000 2,000
< 1,800
[Ea 4,200
01 MHZH| 6,000 4,000 2,000
O3sletd 24 6,000,000 6,000
S 1,800
= 4,200
301 LEtE N = 1,000 7,600 26,600
= 300
o 700
11 #AIAHIXIE S 1,000 1,600 A600
O=tsetHl =29 1,000,000& 1,000
== 300
[ 700
402 QI2F X201 & 28,000 199,000 A171,000
= 8,400
= 19,600




2A:
T ZH -
o e

Sk

Ofl &F2H

MEE
Ofl &k2h

S
g
g 0

03 * 200 70%

OXrdlzt 23t Mab|= AlY
20,000,000 * 1JH2A » 70%

M

M

28,000

14,000
4,200
9,800

14,000
4,200
9,800

199,000

S

MO

1,600,000
800,000
240,000
560,000

1,600,000

401 AIZHIZL 20

S

M

1,480,000
740,000
222,000
518,000

1,480,000

1,451,000,000&

25,000,000

4,000,000

S

M

S

M

S

MO

1,451,000

1,451,000
725,500
217,650
507,850

25,000

25,000
12,500
3,750
8,750
4,000

4,000
2,000

600
1,400

1,451,000

25,000

4,000

>

o

F

405 XAk

Jn

]

r

S

M

120,000
60,000
18,000
42,000

120,000

120,000,000&

S

M

120,000
120,000
60,000
18,000
42,000

120,000
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2A: sHIIsUEH
B sxoleigsd U so|z 23
o ASASIEES EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ASHS JlsEsS 43,854 271,556 N227,702
201 er23 | 2,800 4,800 22,000
01 At2teltl 2,800 4,800 /2,000
OASHE o & s XL
700,000 = 4CH 2,800
202 04| 5,184 9,600 AN4,416
01 2L AL 5,184 9,600 A4,416
OAS)le dRFA O 5,184,000 5,184
301 22N = 3,670 2,65 1,014
11 dALEEIXIE S 2,560 1,176 1,384
OASHE =gl & w| =4
8,000& 320 2,560
14 IIEt2 83 1,110 1,480 A370
OASHS =gl Bl us ZA=E
370,000& * 32| 1,110
402 2I2F X201 & 32,200 234,500 A202,300
01 RIENSA S E X (XM THR) 32,200 234,500 A202,300
O3fsll 2 MHHE <l = JINM 25
Al 10,000,000& = 1024 = 70% 7,000
O3sll s& HiUX 22 dHAAYE 25
Al'g 14,000,000 14,000
OtlAs SE8= AEMUII= 238 AL
10,000,000& * 102 * 70% 7,000
OHIOI2XIE &8st MEtA Q14 THHHXI 2
cl Alg 1,200,000& * 504 * 70% 4,200
DS o HAHA 7F 23,040 23,040
201 er23 | 5,400 5,400
01 At2teltl 5,400 5,400
O=32t73 S| Xt
700,0002 = 1CH 700
O=3l dAlg 29 4,000,000 * 14 4,000
O=3t HAls s8¢ 700,000 » 14 700
206 MH=HI 5,000 5,000
01 MHZHI 5,000 5,000
O3tsl &Hl =29 5,000,000& * 14 5,000
301 EtE N = 6,000 6.000
11 #AIMHIXIE S 2,080 2,080
O3gl =HHl S48l
8,0008 * 2602 = 12 2,080
14 0Bt 2as 3,920 0 3,920
O=3t¢173| WF ZA=E
370,000& * 82l 2,960
OO0Fd a3 W& JA+g
230,000& = 33 690
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2A: sHIIsUEH
B sxoleigsd U so|z 23
Hel: ASAIII=ES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOrMsIARS| NE EX LAY
90,0008 * 32 270
307 gl2to| & 6,640 0 6,640
02 2B YA AR A 6,640 0 6,640
OO0rdztH 3| SH=MH A
6,640,000& * 1HA 6,640
SHERY 29 301,597 262,874 38,723
101 e124d| 83,091 55,357 271,734
M ORINZZ2NSE S 83,091 55,357 27,734
OSEsEE 22| A2 83,001
=0 2,060,7402 * 6% * 5 61,823
-=0 2,060,7402 * 1&H = 6HE 12,365
-AEIEE JI2HRES
74,188,000 * 12% 8,903
201 el 43,338 31,737 11,601
01 At2telt] 4,058 4,577 2519
OSEEEY 28 ARES
100,000& » 55 500
OUEIE == 129,345,508 * 2.75% 3,558
02 S3=gHl 39,280 27,160 12,120
OSE=RY HezY|
1,350% = 80L = 201 » 80 17,280
OSHFRE A&/HHIRXH
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